Towards the sum of 2 two-digit numbers: problem situation involving money

Gladys and Dédé wonder how many table tennis balls they can

costs 1€)
Check if they have the correct amount. Draw the balls and answer in the small clouds.

Gladys has 26¢€. Dédé has 12€.

Together,

they can buy@balls at 1€ each. 26 e
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€-notes and the fewest coins possible.

Draw the amounts of money below with 10
Answer. If you aren’t sure, draw the balls.

Gladys has 28€. Dédé has 21£.

Together,
they can buy@ balls at 1€ each. 28 + 21 =

Gladys has 13€. Dédé has 24€.

Together,
they can buy balls at 1€ each.

13+ 24 =

B

A. Problem situation: the sum can be calculated either by reasoning directly using the numbers (found on the B. Same activity: the learners have to draw the
notes and coins) or by drawing the corresponding sets of objects at 1€ each. notes and coins themselves.



